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COMMERCIAL TAX INSPECTOR (K K) IN THE DEPARTMENT OF COMMERCIAL TAX

Total Marks : 100

Examination held on 07.01.2024 (AN)

Paper-2 (Subject Code: 568)
KEY CHART

Question Booklet Series - 'Q'

1 Mark for each question

Question Key Question Key Question Key Question Key
Number | Answer | Number | Answer | Number | Answer | Number | Answer
1 1 26 1 51 3 76 1
2 1 27 2 52 2 77 3
3 1 28 4 53 4 78 1
4 3 29 2 54 2 79 3
5 1 30 1 55 3 80 1
6 4 31 2 56 4 81 3
7 1 32 2 57 2 82 2
8 2 33 2 58 2 83 3
9 2 34 2 59 1 84 1
10 1 35 2 60 1 85 4
11 1 36 2 61 4 86 4
12 2 37 2 62 3 87 4
13 4 38 1 63 2 88 3
14 4 39 2 64 2 89 2
15 3 40 2 65 4 90 1
16 4 41 2 66 2 91 4
17 2 42 1 67 1 92 2
18 1 43 1 68 2 93 1
19 1 44 2 69 4 94 2
20 3 45 1 70 3 95 2
21 2 46 4 71 1 96 1
22 1 47 4 72 4 97 1
23 1 48 4 73 2 98 2
24 3 49 3 74 1 99 3
25 3 50 2 75 2 100 3

Note: Every question for which wrong answer has been given by the candidate, %4 th of the marks
assigned for that question will be deducted.

Sd/-

Controller of Examination

Karnataka Public Service Commission

Bengaluru.
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(1) Ctrl+ M

(2) Ctrl+ L
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(1) Ctrl+P &) Ctrl+A

(2) Ctrl+S SR Ctri+F

(3) Ctrl+Z &) Ctrl+K

(4) Ctrl+M S0 Ctri+L
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COMPUTER KNOWLEDGE

1. Which of the following is an absolute
cell reference.

(1) $A$4
(2) |Al4
(3) #A#4
(4) Ad

2. Consider the following statements:

A. Electronic mail used to send
electronic message over the

internet.

B. Telnet is used to log on to remote

computer  that is atta-ched o

internet.

C. Internet relay chat (IRC) allows |

common group of people in small

groups to communicate in real -

time.

Which of the above statements are
true? Select from the options given
below ' '

(1) Aand B only

(2) B and C only

(3)Aand C only

. . (4)A,BandC

Aoyl et S T
. Al

www.shikarat.cd

3.

How to insert a new slide after
current slide in an MS PowerPoint

presentation using shortcut keys?

(1) Ctrl+ M

(2) Ctrl+ L

(3) Ctrl+ P

(4) Ctrl+S

Which of the following is not a valid

number of slides per page Handout

option among the available Handout

- optionsin MS PowerPoint?

(1 3

(2) 4

(3) 5

(4) 6

In MS PowerPoint which of the
following is used to turn on the default
pen type?

(1) Ctrl+P and Ctri+ A

(2) Ctrl+S and Ctrl+ F

~ (3) Ctrl+Z and Ctri+ K

(4) Ctri+M and Ctrl+ L




Q)

}/ 208, cmeaf, TI0® ToOOOES MY,
uAERYen B FUNT odws Fos
POF LI WRUIeB?

(1) Jjpg
(2) .gif
(3) .png

(4) SoedT ao:;;a

%/ ﬁmsdé) A%, (Satya) ow wdmab
©OB 30%2,0809 B Inden S
FINT o7 dﬂ#ﬁo;m}xbacb._
(1)stfy
(2)styf

(3)stys

(4) B0cdHT adHue Vo .

7/ et 303@036@“ Q™ (Vijnana)
N0 65}9 G VY é{,m‘ SEL
YN &g dnvm*mam.

1.vljfZana
2. vijfzAna

3.VijfzAna

4. e atnJoe v

|

568-Q
?// B3NS SedBrivd BOR.
2. BoZR,L0TEL DEERYRY, M0
_&arf.& 3500 Pajaa AT
ST BRI,

D.1 dlne e3,&5° 1000 sore Wyesron
A
A. 1 S3k50 1§ 83° 1024 td00 Wessriont 30
Boedd QeBFUNTHLS BT/ BePBnvd
IR BD? FOOIRT LVITH) ﬁ%i:i’
QBN 8ad)ne FoFe3DoE esOLD.
(1) & 3 2 I3,
(2) & S D I3,
(3) A ) & I,
@) 2,080

)/ B SINTIYO cdnFIH> esger owos

agon ZDabow) .
(1) 30 Towo® Agosy detso Rorys
S I53w500 Foemen
- BOZR, 0B WURLVT,
(2) 88,0 B0200° 250 0 00T 7 B ok
BBesried I3,

(3) uge® Nowo* pPo wee WP

oasaa; 8.

(4) 8o  Dowo* xR @c‘dﬁofﬁ
J3odeom>  eges  @muE
REOIEOE  ens  dae
RSOTOROTE Roegesen
TOBIFRIT.



568-Q
6.  In which of the following file formats
the Microsoft PowerPoint can be
saved?‘
(1) .Jjrg
(2) .gif
~ (3).png

(4) All of the above

7. The word &3, (Satya) in Kénnada
is typed in Nudi Software using the
following characters | |
()stfy
(2)styf
(3)stys

(4) None of the above

?. Theword 2538 (Vijnana)in Kannada
is typed in Nudi Software using the

following characters
1.vijfZana
2.vijfzAna

3.VijfzAna

A Nane of 12 shove

9.

10.

Consider the following statements:

A. Computers manipulate bits in
groups of fixed size called words.

B.1 Kilobyte is equal to 1000
Megabytes.

C.1 Petabyte is equal to 1024
Terabytes

Which of the above given statements
is/are correct? «

Select the code for the correct answer
from the options below:

(1) Aand C only
(2) A and B only
(3) B and C only
(4)A,BandC

Which of the following is false about
the Octal number system?

(1) Computer uses the octal number
system to store data and perform
calculations.

(2) The octal number system has only
eight digits from 0 to 7.

(3) The base or radix of the octal
number system is 8.

(4) An octal number can be easily
converted to its decimal equivalent
by multiplying each octal digit by.
positional weight.
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(1) Mesh
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(3) Ring
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1. What are the shortcut keys to enter

the current date in MS-Excel?

(1) Press Ctrl + ;(semicolon)

(2) Press Ctrl + insert ;(serﬁicolon)
(3) Press Ctrl ; (semicolon)

(4) Press Ctrl / ; (semicolon)

\IL
\
N

12. Which of the following is primarily*

used to host a website?

(1) Mail server

(2) Webserver

(3) Database server

(4) None

13. Which software prevents an external

user from accessing a system?
(1) Virus checker

(2) Gateway

(3) Router

14. Which of the following is not the type
of the network topology?
(1)Mesh
(2) Bus

(3) Ring
(4) Stub

15. Consider the following statements

about the shortcuts in MS Excel:
A. Go to the Data — tab Alt + A
B. Go to the Formula — tab Alt + M

Which of the above given statements

is/are correct?

Select the code for the cofrect answer
from the options given below:
(1)Aonly

(2) B only

(3) BothAand B

(4) Neither Anor B

16. How to add hyperlinks in excel?

L)

(1) On the Insert tab, Select Hyperlink

(2) Right-click in the cell and then

select Hyperlink
(3) Press Ctrl + k
(4) All of the above
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A. LAN |. To3R,e30°¢ Ves*SF°e e
DB, BUKT F0wog
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B. WAN Il :Su‘:%ks‘ﬂ'd Jon®
C.Internet lll. deQoeld 3,uesnd
BOHR, b30F ARBSEY,
ROSFEROIT.
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(1) Press Ctrl + Shift + Enter
(2) Press Alt + Enter .
(3) Press Ctrl + Enter
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(1) wom; b3z QoLIT*ENT, (PCI)

(2) OLASREEF yedodoer was
(USB)

(3) B,-B»II S0 AdeBoI»
Qe3ger xS (HDMI)

(4) H38 2T D7° P, eednesoet
sdrisgos
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(4) Press Alt + Shift + Enter

&cﬁvaig* WYRTRrLIW?
(1) Alt+Q (2) Ctrl+Q
(3) Ctrl+F

(4) Del+Q
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17 Match the List | with List Il (Definition)
in the Computer network

iist | List Il
(Definition)

A. LAN I. The global system
of interconnected
computer networks

B.WAN  II. A collection of

websites.

C. Internet Ill. A group of computers
connected in a limited
area.

D.www. V. Com_pute’r- networks

spread across a large
geographical area

Select the code for the correct answer

from the options given_below:
A B C D

G T [ v
2 A [
@) | I mow
@ v m [ |

18. In.MS Word, how can you break the
current column?

(1) Press Ctrl + Sh-ift + Enter
(2) Press Alt + Enter

(3) Press Ctrl + Enter

(4) Press Alt + Shift + Enter

19. What technology is used to increase
a CPU by
executing more instructions in less

the performance of

time?

(1) Pipelining

(2) Spooling

(3) Syhchronising instructions

(4) MMS Technology

| 20. Which of the following is used as

interface between two devices for
transferring uncompressed video data
~and compressed -or uncompressed

digital audio data?

- (1) Peripheral component
interconnect (PCI)

(2) Universal Serial Bus (USB)

(3) High-Definition Muitimedia
Interface (HDMI)

- (4) PCI express protocol architecture

21. What.are the keys used to apply
conditional formatting by selecting
cells and pressing them?

(MAIt+Q
(2)Ctrl + Q
() Ctrl + F
(4) Del + Q
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(1) IEEE 802.11  (2) IEEE 802.3
(3) IEEE 1394 (4) |IEEE 802.16.
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(1) MIME (&&d@c%@é 'aohdr&-b;s‘
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(2) X.400 www.shikarat.com
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(MPEG)
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(1) Averageif (B110: B119, B1110)
(2) AverageA (B110: B119, B1110)
(3) Average (B110: B119, B111)

(4) BoedT adroHER e
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272  ¥/hich Local Area Network protocol
specifies the media access control
~nd physical layer protocols for
implementing Wi-Fi computer
communication?

(1) IEEE 802.11
(2) \EEE 802.3
(3) |EEE 1394
(4) IEEE 802.16

23, Which protocol allows email messages
to carry non-ASCIl data, such as
audio, video, images and application
programs, in addition to textual data?
(1) MIME (Multipurposée Iﬁternet Mail
Extensions) ' '

(2) X.400

(3) Transmission Control Protocol -
(TCP)

(4) Moving Picture Experts Group
(MPEG)

24. The formula used to calculate
average in MS Excel for the cells
from B110 to B119 and storing the

result in B1110 is given by

(1) Averageif (8110: B119, B1110)
(2) AverageA (B110: B119, B1110)
(3) Average (B110: B119, B1110)
(4) None of the above

25. Match List | (Categories of Comput-
ers) with List Il (Functionalities)

List | List Il

Categories of ' |

Computers Functionalities

|. Designed to process
huge amount of data

A. Workstation

in seconds
B. Digital "11. Designed for
Scientific and

Computer .
: technical applications

C. Mainframe lll. Designed
-Computer ~ to perform
- calculations and
logical operations
D. Super IV. Designed to
Computer support hundreds

and Thousands of
users Accessing

. the system at the
same time

Select the code for the correct answer
from the options given below:

A B C D
M +tnmv
2 v | Il 10
3 nom v [
“ 1 v o 1

1"
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03=PAB. S 9 N

(y |+ o 5 _ .

) u 1wV 5 f" Line Pie

@ oo ' Pie Bar Line
4

(@) v m oo _ e At e
12 -




£68-Q

. r‘c‘
AP

27.

28.

FLASH is a

1) ROM

(2) Hardware
(3) Software

(4) None of the above

Shortcut key to close Windows
Explorer

(1) Ctri+ N

(2) Ctri+ W

(3) Windows+ E

(4) None of the above.

Match List | (shortcut key) with List Il
(Their Corresponding Actions) in MS
Word o _-

List | - Listll
(Their
(Shortcut key) Corresponding
. Actions)
A. To Increase ,
Font size . Cul+B
C. Justified -
paragraph ii. Ctrl + [
D. To highlight
the text in iv. Ctrl +]
bold

Select the code to match the correct
answer from the options given below:

A B C D
(1) | onomwv
@ 11w
@ m oo
@ v mon

29. The quick way to move from one cell

30.

to another in a table in MS Word is

~ (1) Shift + Tab

(2) Tab
(3) Ctrl + Tab

(4) Alt + Tab

- What type of chart can be used for

| the folching:

(A) Data Trends

(B) One series of data

(C) Using-Y axis as primary axis

Select the chart in the appropriate

places to match the usage from the

options given below:

A B C
1. Line Pie Bar
2, Bar Line Pie
3. Pie Bar Line
4,

None of the above
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GENERAL ENGLJSH

Read the following passage

Nirection:
s that follow

and answer th
(Question Nos.
-hese questions S

passageé only.

e question
66-67). Your answers to

hould be based on the

Passage
The long-standing idea that language is a
tool of communication does not have any
contemporary relevance. Because, many
modern theories of linguistic philosophy
have argued against this notion of language
as merely a medium of exchange of ideas
and thoughts between people. Instead,
these modern theories of language say
that language does not just represent the
reality, rather, it also plays a significant
part in creating reality. According to this,
languages not only help us share our
thoughts and ideas but also create our
thoughts and ideas. This shift in linguistic
notion has been one of the prominent
motives behind modern philosophical
evolutions.

. Modern linguistic theories argue that

(1) Language is mere a tool of

communication
(2) Language isamedium of exchange
of our ideas and thoughts

(3) Language just represents reality

(4) Language plays a role in creating

reality
20

” What is a long-standing idea?

(1) Language is a tool of -
communication

(2) Language does not communicate
ideas

(3) Langdage creates reality

(4) Languages are not natural

Direction: Choose the Synonyms for the
given underlined words. (Question Nos.
68-69) and shade / blacken the correct

answer in your Answer Sheet.

/GB./Even the greatest footballer of all time

was once a novice

(1)-Achiever
(2) Beginner
(3) Professional
(4) Trainer
69. One of my friends who works in a
university is really erudite
(1) Friendly
(2) Miserly
(3) Lovely

(4) Scholarly
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Direction: To answer (Question Nos
701-71) choose the word which is an
@nttonym or the most opposite in meaning
te the underlined word and shade / blacken

the corresponding circle in your Answer
Sheet.

70. People who are timid shouldn't join
the army.

(1) Gentle
(2) Tired
(3) Brave
(4) Snicker

71. There is dearth of human resource to

work in social sector in India
(1) Abundance

(2) Shortage www.shikarat.com

(3) Famine
(4) Absence

Direction: (Question NoOS. 72-73) are
designed to test your ability to use the
right prefix so that the word conveys the
\ meaning given in the brackets. Choose
the
' alternatives given below 10 complete the
word by adding the prefix and shade/
blacken the corresponding circle in your

Answer Sheet.

L the most appropriate answer from

72. Ganesh was willing to take

up medical course for higher studies

(Being not interested in something or

not having the liking to do a course)
(11.) in-

(2) mis-

(3) dis-

(4) un-

73. The investigation

report said
that the mob was fixed and

mobile at the time of riot.
(The mob that was not in moment to

indulge in any riot)
(1) dis-
(2) im-

(3)ir-

(4) ex-
21
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Directions: Question 74 contains a
ps-agraph of 6 sentences. The first and
th= sixth sentences, are given in the
beyinning and end A%, numbered 1 to 6
respectively. The four sentences in the
middle are jumbled and labeled as P, Q,
R, S. You must identify the proper order /
arrangement of the sentences and shade/
darken the option that correctly identifies
this sequence.

74. (1) The highway was so badly
damaged that accidents had
become common. There were
other health issues.

(P) People had no alternative other
than taking an extreme step.

(Q) People suffered from back pain,
especially the regular commuters.
‘Journey on the highway was

rough.

(R) Under the leadership of some

senior citizens, they collectively
blocked the road and staged a

dharna.

(S) Repeatedrequestsand complaints
fell on deaf ears.

(6) This made news at the state level
and authorities rushed to the

scene.
(1) QSPR
(2) PSQR
(3) RSQP

(4) SPQR
22
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75. Choose the correct preposition from
the options given.

They walked the seashore.

(1) in

(2) beside

(3) of

(4) into
Direction: For (Question Nos. 76-77)
underlined idiom or phrase has been
used in the sentence. You have to choose
the sentence which explains the correct

meaning of that and shade / blacken the

correct answer in Your Answer Sheet.

76. To take to one’s heels is common for

the thieves when they see police

(1) It is common for the thieves to run
away from the place when they
see police ‘

(2) Itis common for the thieves to hide
when they see police

(3) It is common for the thieves to
assault when they see police

(4) Itis common for the police to arrest

thieves when they see robbers
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77. Tie environmental movement

progressed by leaps and bounds in

‘the second half of its journey

(1) The environmental movement

progressed very slow in the
second half of its journey

(2) The environmental movement
progressed very fast in the second

half of its journey

(3) The environmental movement
progressed went in the wrong
direction in the second half of its
journey

(4) The environmental md\_fement
progressed aimlessly in the

second half of its journey

Direction: For (QueStion No. 78), a word/
phrase is given followed by four options.
You have to éelect the option which
explains the meaning of the word/ phrase
and shade/ blacken the correct answer in

your Answer Sheet.
78. Bemoan

(1) Lament

(2) Soothe

(3) Denounce

(4) Loathe

2807 Lay off

In the No 79)
sentences have been given in active /

following (Question

passive voices. Select the correct option
which best expresses the voice in the
sentence.

}9./What did he break?

(1) What is being broken by him?
(2) What were broken by him?
(3) What was broken by him?

' (4) What has broken him?

Direction: For (Question Nos. 80-82),
a word / phrase / phrasal verbs is given
followed by four options. You have to select
the option which explains the meaning of
the word / phrase and shade / blacken the
correct answer in your Answer Sheet.

f

(1) Retrench
(2) Recruit
- (3) Promote

(4) Demote

81. Ostraciie
(1) Welcome
(2) Punish
(3) Banish
(4) Destroy
23
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82. Make do }B’ In the following singular-plural sets,
Adjudicate ,
(1) Adju there are two correct sets and two
(2) Adjust |
incorrect sets. Identify the correct set
(3) Admonish
(4) Administer Group A Group C
Apple - apples tower — towers
Direction: For (Question Nos. 83 and 84) Box — boxes river — rivers
. ; Ox — oxes cattle — cattles
' Fill in the blanks with suitable prepositions.
Boy - boys goat — goats
;a./ The squirrel is so fearless that it eats
Group B Group D
food ____her hand. eagle — eagles - kid — kids
(1)of 7 chick — chicks.  puppy — puppies
_ egg — eggs duck — ducks
(2) on sheep — sheep COW — COWS
(3) off
Select the code for the correct answer
(4) for

' from the options given below:
}4./ She has been learning French

two months. (1)Aand B
(1) since (2)Band C
(2) from

(3)Aand D
(3) by
(4) in (4)B and D

24
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(Gmeslion 86 contains a paragraph of 6
sentz1ces. Thefirst and the sixth sentences
are given in the beginning and end and
pumiered 1 to G respectively.

B3,

Instruction: The four sentences in
the middle are jumbled and labelled
PQRS. You must identify the proper
order / arrangement of the sentences
and shade / darken the option that
correctly identifies this sequences.

(1) A group of friends met during the
holidays and decided to plant a
garden and they were excited.

(P) People saw the positive result of
their hard work and appreciated
them. They even offered help.

(Q) Immediately after these activities
they became confident and
worked long hours joyfully.

It brought alive their childhood
memories of playing in mud.

(R) All the time they kept themselves
busy visiting farmers, reading
books on gardening, collecting
seeds and useful plants.

(S) Within a few weeks, the patch of
land had transformed itself into a

smiling garden. Some tiny flowers
had bloomed too

(6) By the end of the holidays their
knowledge in gardening had
deepened and had given them

a sense of fulfiment, joy and
purpose.

(1) RPSQ
(2) PQRS
(3) SPQR
(4) RQSP

/B/Add a suitable question tag to given

sentence.

He did not buy the book 7
(1) Didn't he?

(2) Shouldn’t he ?

(3) Should he ?

(4) Did he ?

In the following questions (88-89) a
sentence has been given in Direct / Indirect
speech. Out of the four given alternatives,
select the one which best expresses the
same sentence in Indirect / Direct speech.

88. The watchman told his wife, “Don't let
the dog out”.

(1) The watchman told his wife not to
let the dog out.

(2) The watchman told his wife to
never let the dog out.

(3) The watchman told his wife to
leave the dog out.

(4) The watchman told his wife to not
to let the dog out.

89. She said, “I have been following the

stock market for a long time"

(1) She said that she has been
following the stock market for a
long time

(2) She said that she had been

following the stock market for a
long time

(3) She said that she was following
the stock market for a long time

(4) She said that she had to follow the
stock market for a long time.

25



Lire:tion: (Question Number. 90 and 91)
~ave an expression each which can be
repiaced by a single word. Choose the most
appropriate from among the alternatives
and shade / blacken the corresponding
circle in your Answer Sheet.

90. Someone who collects coins is called
(1) Numismatist
(2) Coiner
(3) Mentalist
(4) Metatheorist

91. The person who compiles dictionaries
is called

(1) Philologist

(2) Dictionarist
(3) Polyglot

(4) Lexicographer

www.shikarat.com

Direction: (Question Numbers 92 and 93)
are based on degrees of comparison
(positive, comparative and superlative).
Fill in the blanks with most appropriate
word / words from the given alternatives
and shade / blacken the corresponding
circle accordingly in your Answer Sheet.

%This man is the

farmers in our place.
(1) More skilled

(2) Most skilled

(3) Skilled

(4) Much skilled
26
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~"The students applauded
than before when the actor came on

the floor.

(1) Louder

(2) Loudest

(3) More loudest
(4) Loud

Direction: In (Question Numbers 94 - 96)
there are sentences which are divided
and numbered into three parts and one
of the parts may contain an error. Identify
the error by (1), (2) or (3) given under the

_ parts of the sentence. If there is no error,

mark (4) no error. Shade/blacken
corresponding circle in your Sheet.

94. Neither Gokul /
(1)
nor his friend have attended the /
@) _ ‘
most important meeting of their life /
3)
No error

(4)

95. All the players were present at the
practice session /

(1)

but one of the coach /

(2)

was absent due to an emergency /
(3)

No error

(4)
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96. She ran so fastly /

(1)

that she was able to catch /

(2)

the running bus /

(3)

No error

(4)
Direction: Read the following passage
and answer the questions that follow
(Question Nos 97-99). Your answers to
these questions should be based on the
passage only.

Passage

Professional disparity is a recent
phenomenon. Some centuries ago, before
the advent of scientific machinery and
technology people found less inequality
between various jobs. Due to these
inventions, the notion that mental labor
is superior to physical labor emerged.
The privileged class could eaéily take the
ownership of production industry saying
that they have the necessary managerial
skils and as a result, the rest of the
Population ended in the pool of physical
labor. This disparity further continued to
the financial sector due to the imbalance
in the return between physical and mental
labor. People with mental skills continued
to become rich and prosperous. While the

Physical laborers confronted misery and
Poverty.

\‘}?./Pick the word that does not mean

disparity

(1) Equality
(2) Severity
(3) Imbalance
(4) Uneven

~ The privileged class could take the

ownership of production industry
because,

(1) They had the necessary
managerial skills

(2) They were also good at physical
labor

(3) They wanted to become rich

* (4) They were physically weaker

/QQT‘What is the recent phenomenon

according to the passage?
(1) Professional disparity
(2) Financial disparity

(3) Physical disparity

(4) Mental disparity

~ 100. Fill in the blank with the appropriate

option given below.
Nanjangud is holy place
(1) the

(2) an

3)a

(4) zero article
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